















































E.C.	CHAPTER 4b. RE		SSMENT	Slide No. 24
P.A.	Empiri	cal Re	liability A	nalysis
	Using	Life D	ata	
	Time Order	TTF	Empirical Survivor	7
	Number	(Years)	Function	
	0	0	19/19 = 1	
	1	26	18/19 = 0.947368	
	2	27	17/19 = 0.894737	
	3	28	16/19 = 0.842105	Table 4
***	4	29	15/19 = 0.789474	Empirical Survivor Function
	5	30	14/19 = 140.736842	
	6	31	13/19 = 0.684211	$S_n(t)$, Based on Data of
	7	32	12/19 = 0.631579	Example 2
	8	33	11/19 = 0.578947	P
	9	34	10/19 = 0.526316	
	10	35	9/19 = 0.473684	
	11	36	8/19 = 0.421053	
	12	37	7/19 = 0.368421	
	13	38	6/19 = 0.315789	
	14	39	5/19 = 0.263158	
	15	40	4/19 = 0.210526	
	16	42	3/19 = 0.157895	
	17	43	2/19 = 0.105263	
	18	50	1/19 = 0.052632	
C	19	56	0/19 = 0	





Part 1	AND A	CHAPTER 4b.	RELIA	BILITY	ASSES	SMEN	T						Slid	e No. 27
-A	Empirical Reliability Analysis													
	Using Life Data													
		Example 6 (cont'd)												
		Table 1. Ex	ample	e of <mark>T</mark>	<u>ype I</u>	Righ	t Cen	sored	Data	(in Y	ears) f	for Equ	ipmer	ıt
-		Time Order Number	1	2	3	4	5	6	7	8	9	10	11	12
5		Time (Years)	7	14	15	18	31	37	40	46	51	51	51	51
		TTF or TTC	TTF	TTF	TTF	TTF	TTF	TTF	TTF	TTF	TTC	TTC	TTC	TTC
	TTF = time to failure, and TTC = time to censoring													
		– The		Fsa	and	the	cal	cula	atio	n re	sults	s of t	he	
		emp	DILIC	al s	urvi	vor	tun	ctio	n b	ase	d on	Eq.	55	
		are	give	en ii	n Ta	ble	5.							
C		– The	sa	mpl	e siz	ze n	ca	se i	s 12	2.				

and a second	A SALVA	CHAPTER 4b. REI	LIABILITY ASSES	SMENT		Slide No. 28		
	Empirical Reliability Analysis							
	ן	Using]	Life D	Table 5 Empirical Surviv	vor Function $S(t)$			
		Examp	le 6 (cor	Based on Data C	Siven in Table 1			
		Time Order	Time to	Time to	Empirical Survivor			
		Number	Failure, TTF	Censoring, TTF	Function			
			(Years)	(Years)				
-		0	0		1.000000			
		1	7		0.916667			
		2	14		0.833333			
		3	15		0.750000			
		4	18		0.666667			
		5	31		0.583333			
		6	37		0.500000			
		7	40		0.416667			
		8	46		0.333333			
		9		51	0.333333			
		10		51	0.333333			
		11		51	0.333333			
		12		51	0.333333			







HAPTER 4b. RELIABILITY ASSESSMENT

Empirical Reliability Analysis Using Life Data • Example 7 (cont'd)

Table 6. Example 7 Data and Empirical Survivor Function, $S_n(t)$

Slide No. 32

Year	TTF (Years)	Number of Failures	Survivor Function
1937	0	0	1.000000
÷	:	:	:
2001	64	170	0.876900
2002	65	172	0.868300
2003	66	177	0.859450
2004	67	179	0.850500
		•	





















the state		CHAPTER 4	4b. RELIAB	ILITY ASSESSMENT		Slide No. 43					
	Empirical Reliability Analysis										
	Using Life Data Table 7a Example 8 Small Sample Data and Respective Empirical Survivor Function for Failure Mode 1.5 (1)										
	14	Time Order Number	Time to Failure (Years)	Number of Occurrences of Failure Mode 1 (Strength)	Number of Occurrences of Failure Mode 2 (Fatigue)	Empirical Survivor Function for Failure Model (Strength)					
		0	0			1.000000					
H		1	0.1	0	1	1.000000					
		2	1.1	0	1	1.000000					
		3	1.9	0	1	1.000000					
		4	6.2	0	1	1.000000					
		5	9.0	0	1	1.000000					
		6	11.7	0	1	1.000000					
		7	16.2	1	0	0.833333					
		8	21.3	0	1	0.833333					
		9	49.6	1	0	0.625000					
		10	51.0	1	0	0.416667					
		11	51.7	1	0	0.208333					
2		12	68.3	1	0	0.000000					



CHAPTER 4b. RELIABILITY ASSESSMENT Slide No. 45										
- A	Empirical Reliability Analysis									
	Using Life Data									
	Table 7b. Example 8 Computational Details for Empirical Survivor Function for Failure Mode 1 $S_n(t)$									
	Time	Time to	Number of	Number of			Empirical			
	Order	Failure	Failures for	Censorings			Survivor			
	Number	(Years)	Mode 1	for Mode 1	$n_j =$	<i>(</i> 1 1 /)	Function for			
-	j	tj	d_j	c_j	$n - d_{j-1} - c_{j-1}$	$(1-d_j/n_j)$	Model			
	0	0					1.000000			
	1	0.1	0	1	12		1.000000			
	2	1.1	0	1	11		1.000000			
	3	1.9	0	1	10		1.000000			
	4	6.2	0	1	9		1.000000			
	5	9.0	0	1	8		1.000000			
	6	11.7	0	1	7		1.000000			
	7	16.2	1	0	6	1-1/6	0.833333			
	8	21.3	0	1	5		0.833333			
	9	49.6	1	0	4	1-1/4	0.625000			
	10	51.0	1	0	3	1-1/3	0.416667			
	11	51.7	1	0	2	1-1/2	0.208333			
	12	68.3	1	0	1	0	0.000000			
5										



C C	CHAPTER 4b. RE	ELIABILITY ASSES	SSMENT		Slide No. 47				
.A. off.	Empirical Reliability Analysis								
1	Using Life Data								
Example 9 (cont'd)									
	Table 8. D	ata and Empiri	ical Survivor Fun	ction for Failure	Mode 1 $S_n(t)$				
	Year	Time to Failure (Years)	Number of Occurrences of Failure Mode 1 (Strength)	Number of Occurrences of Failure Mode 2 (Fatigue)	Survivor Function for Failure Mode1 (Strength)				
	1999	15	2	44	0.998241				
	2000	16	1	55	0.998190				
	2001	17	2	64	0.998087				
	2002	18	1	73	0.998036				
	2003	19	1	67	0.997984				





















Port -	See CH	APTER 4b	. RELIABILITY ASSES	SSMENT		Slide No. 58				
- AL	Empirical Reliability Analysis									
	U	Jsing	g Life D	ata						
		Table 9	. Empirical Surviv	or Function, S	$S_n(t)$, and Fitted R	eliability Function				
		Using L	oglinear Transform	nation and Re	gression for Exar	nple 10				
		Year	Time to Failure (Years)	Number of Failures	Survivor Function	Fitted Reliability Function				
		1937	0	0	1.000000	_				
		:	:	:	÷	:				
		1973	36	0	1.000000	-				
		÷	:	÷	:	:				
		2002	65	172	0.868300	0.870060				
		2003	66	177	0.859450	0.861140				
		2004	67	179	0.850500	0.851996				













E all	CHAPTER 4b. RELIABILITY ASSESSMENT Slide No. 65	5
- A.	Empirical Reliability Analysis	
	Using Life Data	
	Example 14 (cont'd)	
	y(x) = bx + a	
	 The distribution parameters can be estimated as follows: 	
	$\beta = b$ and $\alpha = \exp(-a/\beta)$	
	 The values of these estimates for the data of Example 8 are 	
	$\beta = 0.5554$	
	$\alpha = 1543246.1$	
C	a = -7.91411	



En al	C	HAPTER 4b. R	ELIABILITY ASSES	SSMENT		Slide No.	67			
.A.	on: canut	Empir	ical Re	liability	Analys	sis				
	Using Life Data									
	Table 13 . Empirical Survivor Function, $S_n(t)$, and Fitted Weibull Reliability Function Using Probability Paper for Example 14									
		Year	Time to Failure (Years)	Number of Occurrences of Failure Mode 1 (Strength)	Survivor Function for Failure Mode1 (Strength)	Probability Paper Fitted Reliability Function				
		1984	0	0	1.000000	-				
		:	•••		:	:				
		1998	14	2	0.998343	0.998418				
		1999	15	2	0.998241	0.998356				
		2000	16	1	0.998190	0.998297				
		2001	17	2	0.998087	0.998238				
		2002	18	1	0.998036	0.998181				
G		2003	19	1	0.997984	0.998126				











and and			R 4b. RELIABILITY ASSESSM	IENT	Slide No. 73				
- A.	a Parti	Em	pirical Reli	ability An	alysis				
		Usi • Ex							
		Table 14 . Hazard (Failure) Rate and Cumulative Hazard Rate Functions for Reliability Function with a Polynomial CHRF for Example 4-12 Data and Example 15 Computations							
		Year	Time to Failure (Years)	Hazard Rate Function	Cumulative Hazard Rate Function				
		1980	43	0.001995	0.006369				
		÷	:		:				
		2007	70	0.011985	0.195099				
		2008	71	0.012355	0.207269				
		2009	72	0.012725	0.219809				
		2010	73	0.013095	0.232719				









Port of	CH/	APTER 4b.	RELIABILITY ASSESSMI	ENT	Slide	No. 78					
- AL	E	mpi	rical Reli	ability Ar	nalysis						
	U	sing	g Life Dat	a							
	Example 16 (cont'd)										
		Table 15 Reliabili	5. Hazard (Failure) Rate ty Function for Example	and Cumulative Haza e 14 Data and Example	rd Rate Functions for We 16 Computations	bull					
H		Year	Time to Failure (Years)	Hazard Rate Function	Cumulative Hazard Rate Function						
		1985	1	0.000203025	0.000366						
		:	:	÷	:						
		2008	24	4.94205E-05	0.002136						
		2009	25	4.85316E-05	0.002185						
		2010	26	4.76927E-05	0.002233						













E.	CHAPTER 4b. RELIABILITY ASSESSMENT	Slide No. 85
Bavesian Methods		
	- Everale (contid), Defective Dreducte	
	Example (cont d). Delective Products	
	 The following events were defined: 	
	$L_1 = Component produced by line 1$ $L_2 = Component produced by line 2$ $L_3 = Component produced by line 3$ D = Defective component	
	– Therefore, the following probabilities are	
	given: $P(D L) = 0.1$	
	$P(D L_1) = 0.1 P(D L_2) = 0.1 P(D L_3) = 0.2$	





















